Left and Right Sums: Approximating area under a curve
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If there is a constant width, the width can
be calculated by:

Width = (b - a)/n
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Left sum: Start at the LEFT of the interval A Y =30 :2

f(x) = x2 + 1 on the interval [0, 8] withn =4
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Right Sum: start at the right of the interval

¢ f(X) =x* + 1 for the interval [0, 8] with n = 4
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nght sum with a chflrt (5 sub-intervals) f(x) is diff.
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Left sum with a chart (5 sub-intervals) f(x) is diff.
« [ofx[s]7[r]13

6 [1[4]8]5 8 [11 |
S‘;badx% 2+ +[4+FB3+5.55 1.3 .
ol




